UGS -3 — Qung oibley

Part-A — General Studies

slemnéser : 1-100 Qg wHLGLsTssT: 150
Questions :1-100 . Total Marks :150
1. Which one of the following pairs is wrongly matched?
Revolt Area |

(I) Ramosis —  Poona \/

) Kuka = . — Punjab "

(III) Santhals —  Orissa .~

IV) Kittur —  Malabar ><

(&) (D and (III) only

(B) (III) and (IV) only |
- SHANKAIR

A . B AS ACADEMY”
(D) (III) Only SINCE 2004 . Best Academy for Civil Services Exam Coaching
(E) Answer not known
Gereu(HDd @enansated seupTeaTelDHenD saT(H Ll :
| Slariréé] - uEd
(D) grGuwrélev -y \
I @er — e
(III) smbsevev —  gfler
(IV) A @ —  weun
A) @) wopgo (III) wiGb |
B) (II) wpmw V) v
(C) (IV) 1oL I
@) (D weeod
(E) ofler Qsflueildame
0 3 - CCSE2E/2024
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9. "“Problem of the Rupee” is the thesis submitted by

(A)- Dr. B.R. Ambedkar
(B) M.G. Ranade

(C) J.C. Kumarappa

- (D) Mahalanobis

(E) Answer not known

“epumler Grssmen” aany piaifémsmw SOAINASSTT.

(A)  Lrsii Q.. SDCUSST
(B) wsn. Gsr. grarGL .

(C) Geg&l. goyour | SHANKAR

Best Academy for Civi lSrvce Exam Coa hg

(E) oL Gsflucidma

3. Who wrote a series of articles entitled ‘New Lamps for Old’?
(A) Dinshaw Wacha e
(B) Dadabhai Naoroji
(C) Surendranath Banerjee
(D) - Aurobindo Ghosh
(E) Answer not known

‘Bly, embLied sumi . Geumed  eTaTEHILD 5@6\)&1&16’0 sl Qers Qsmflear

erpSlwaur wmir? -

(A) Senagrm QUTEST

(B) smsmuml GEWGUIT@
(©) sCrppns LTl
(D) oelGar GComay
(E) e Qg)rﬂu_;aﬂd)msu
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Match the following correct Institutions with its location :

(a) NIFPHAT
(b) CICEF
© NFDB
@ CAA

@ ()
@ 1 2
®.2 1
© 2 4
O 3 1

3

4

1
4

=<

©

Bangalore
Kochi
Chennai

Hyderabad

(d)

4
3
3
2

(E) Answer not known

L(ﬂGOTQ_I@LD @gjeummaamm S| S6 a=|ﬂu_|rrm @@ulﬁ]Lg,g,u_m Qurr@g,g,mm

(@) 'NIFPHATT

(b) CICEF
() NFDB
(d) CAA

(a ()
2

(B) 2
C) 2
D) 3

(E) AL QsMweildrene

1
4
.

1.
2
3,
4

© -

(Ol L1 566t (1h
Qargs

" QFeenat

. mansyTUnSg

(@)

D W W B

\ | SHANKAR

IAS ACADEMY"

Best Academy for Civil Services Exam Coaching
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5. Assertion [A] :

Reason [R]

In India, the traditional small scale indus&ies

have greater employment potential than the
modern small scale industries.

‘The value of capital per worker in traditional
small scale industries is smaller than the value of
capital per worker in the modern small scale
industries.

(A). Both [A] and [R] are true and [R] is the correct explanation

of [A]

(B) Both [A] and [R] are true but [R] is not a correct explanation

of [A]

(O) [Alis true but [R] is false
(D) [A] is false but [R] is true
(E) Answer not known

sapm [A]

. amyentd [R]

@nHwrelle umgbufw SpQsmfdsdr s

 Gaumaeumiitiany Beler Al Qarfldsemaradl

GG Sl eTman.

umrgbufw @@an@cbesaﬂcb QsmfleorarmsE ComeuriL@ib
pogar wIHOY  Gopaunsayd peler SAm Qamlésafe
Qzmfleorar(hés, Ceemautiu@id APV S & &Ly
3$srsea|b 2 _6Terg;.

A) [A] vomw [R] @UGMT@LD #fl womw [R] eemug [Alssrar sfwmen

aﬂma;e;w

(B) [A] vipw [R] @raw@id mﬂ gand [R] eerug [Alker sfwmer

cllem&sLb @eusmu
(C) [A] et mamed [R] saugy
D) [A] s syerrs [R] of

(E) &fen GQsfluaidene

CCSE2E/2024
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6. Which of the following statement is correct?

()

(b)

@)
®)
©)
®)
)

Equitable d‘?"elopment is the main target of Eleventh Five

Year Plan O(I FYP) >

Rapid, sustainable and more inclusive growth are main targets

of Eleventh Five Year Plan. X
Both (a) and (b) are correct
(b) alone is cofrect

(a) alone is correct

Both (a) and (b) are ihcorrécﬁ

Answer not known

lﬁlshm@mmajmg]m TS érﬂ_u.mmsmm_?

(a)

b)

5[1).'§§]6)JLDITGOT penGarbmd 11@.@ g‘ﬁjg,qas’vr(b\g é;]l_L_g)‘é)]GUT .G‘rbrré;aswrr@Lb.

<8 Causiorer, Hlevewmar wOHMID SHsLugureT 2 dqrerL S eueTi&s]

i lléug,J spsTan®s HLsdear wedlw Crpréshisengd

(&)
(B)
(©)
(D)
(E)

(a)‘LD'fj)Q]L'D (b) @reim®d sllurareney
(b) v slwureargl

(a) wrEw FAwTETS

A SHANKAR N
=% IAS ACADEMY

SINCE 2004 Best Academy for Civil Services Exam Coaching

(2) wppi> (b) @ramGl> sesprerea

Slen Gg,rﬂumﬁ]sbmm

7 ' CCSE2E/2024
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; . Which among the following is correct regarding the target of literacy
in Tenth Plan? '

(A) to increase of lit *ein
(B) toincrease of literacy to 80% within the plan period

(C) toincrease of literacy to 70% within the plan period |
(D) to increase of literacy to 85% within the plan period . .
" (E) Answer not known =
19\ eieu (HeuGTeLDHMIET LG (b STSSH D gllurer  sdelwbey Qamirumar ‘.l
Qosd |
(A) Qu_e;a;rrsug@ev 75 N(WP&eTLTS aswaﬁ\u_lﬂaﬁla) o Witey :
(B) drLssrasdd 80 dpssm.ns soalwdelild 2 wiey
C) SHissmasdad 70 aﬁ]@é;a;er_nas soclwMeile 2 wire]
D)y Hrsstasdo 85 dssTns a;a)aﬁlm,r_ﬁ]aﬂeu 2 Wiia)]
(E) Gﬁ]am_ Qsflwed@ena

eracy to 75% within the plan period

8.  Consider the following statements and: identify the correct answer :
(A) The Central CIC is eligible for reappointment but the State
'CIC is not eligible for reappointment

(B) - The State CIC is eligible for reappointment but the Central
" CIC is not eligible for reappointment

(C) Both are eligible for reappointment
) Both are not eligible for reappointment
(E) Answer not known

EpaTamib FmOMmIEmET &[HSE e Qa;rrcm@ sflwimes aﬂlml_mu_ng, Cob0sh&s :

(A) wsdu s@a@mL sHU c%mscuru_n@asg poFlubed sTsSwb, <D
LOTHE SHOEMD SHAID HMETLI([HEG WHBFWILETD FTSELILO® -

(B) wmilo soeamn ssued @maumeE woRlunend sTsSwb, e
LSS SEDWELD F&EaID z%emmu_n@ag woFlwubend FTsSLLO

3 C) QoumsEG, mgu;ﬂu_lu)smm TsSHwLd
D) @@G’J(@fﬁ@@m woiHlwioerid &ng@mmmm
- (E) e Gg,rﬂu_mﬂa)msu

SHANKAR o
» IAS ACADEMY"

»
SINCEZOM Best Aca ademy for Civil Services Exam Coaching
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St (i1)

‘ (i)
(iv)

@
®)
©
O
®)

9. Find out the incorrect statement about the Sarkaria Commission :

The Commission wag appointed on 1983 e

The Commission made 247 recommendations /

The Commission recommended to scrap the Article 356%

The Commission recommended that the residuary powefs of

taxation should be given to the states

(111) and (iv) only .
(i) and (iii) only -
only (1v) |
(i0), (i) and (iv)

Answer not known

gigamium gpaemub UHHu seuprer spbamer sam_Hs :

1) srasmALT < EETWILD 1983-1 %m@'gmu(agg,uur_L_@

(1) -
(111)
(iv)

®
®)
©
D
(E)

Qb5 %mmum 247 urﬂ;j;g,]@)njasmm é{ﬂﬂgf_ﬁ@

mp 356-g fa@asp® @bs Y@anub ulibgarsss:

aufed Qe o Grer  er@pAIL a{g‘,]asﬁu@a;dT wrhlomsalLbd @ mss
CouatrRd ereim @bS <peaTUILD uflbgienysss.

(iii) whmp (v) wCED

(ii) whmbd (iii) @L@&
(iv) L@
(i), (iii) wogud> (iv)

afanL Qg Muweildeme

SIHANKAIR

225 IAS ACADEMY"

P
SINCE 2004 Best Academy for Civil Services Exam Coaching
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10.  Choose the correct pair :

1)
2)
(3)
(4
@),

©

B)

Name of the President
Dr. S. Radha Krishnan
Dr. Zakir Hussain
Fakhruddin Ali Ahmed
N. Sanjeeva Reddy

(1) and (2) are correct
(3) and (4).‘are corréct

Answer not known

sflwmer @memsmu. 56&ML@5§ :

(1)
2)
(3)

@

Q)
(B)

GG WIES g,mwmﬁ,QQmﬁ 3
Dr. S. grgm & meiema

Dr. gnit o Gean

USmSem el &S

N. s@péen Qg

(1) whmwb (2) sAwrarg

3) LQ'IDQ]Lb‘ (4) sfwreng

el Qzsflweldeme

CCSEZ2E/2024 v iy ‘10

Elected Year
Vel

- 1966 T/
e

(B) (2) and (3) are coﬁect

— 1961

1974

= 1977

(D) (1) and (4) are correct. -

L8

CarbOsOssliLl L <6
- 1961 |
— 1966

- 1974

S~ 1977

(B (@) o (3) shlumarg

D) (1) wpmnb (4) sRlwreng

N SHANKAR .
24 IAS ACADEMY

SINCE 2004 Best Academy for Civil Services Exam Coaching
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. Find out the Incorrect]y matched.

)

(i)
(i)
(i)
(A)
®)
©)
D)
(E)

Article 18 — Abolition of Titles S
Article 21 —

Article 23—
Article 20 —

Protection of life and personal libérty/
Protection against arrest +
Right to free movement “7k

(i11) and (iv) are incorrectly matched |
(i1) and (iii) are incorrectly matched |
(1) and (iv) are incorréétly matched

(ii) and (iv) are incorrectly matched

‘ SHANKAR "
s IAS ACADEMY

SINCE 2004 Best Academy for Civil Services Exam Coaching

Answer not known

e%@é;&afml_m,rjjgjm seuprar @aamew sarHs :

@)
(1)

(iii)
(iv)

(A)-

B)
(©
(D)
(E)

sl omuiyl8 - UL Lismar @uilssm |

gl amuy 2l — 2lieurhsd wHmb safl walls ssBE8rsSHaETa
| LTGISLIL ' '

sl amuiy 23 — @3 Qeiwtiueudembe LTEISTIL

sl QI_QJDLIZO el a'rg;‘rb'gumrras BLWrheughsrer 2 flenw

(iii) wpmd (1v) seuprer @ anamr
(i) wpid (iii) seprer Goa@r
(i) wppio (v) seprer Gaar

.(ii) ngbgij (iv) seupmen G

e Qggrﬂwaﬂd)m@

11 ~ CCSE2E/2024
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12.

i
Wh1ch of the Vedic Gods is descrlbed as the “Destroyer of cities”?
(A) Agni (B) Indra
(C) Rudra ‘ - (D) Vishnu
(E) Answer not known
‘Bayrsmer SPULGIT GTETm CThS Gmg& SLaer Muiu@EDTT?
A) e  ® gpsver
(C)  ®syer A | (D) afayam
| B ™ o @@ SHANKAR
) elo Gsfuciage . IAS ACADEMY”

‘smc:zooa Best Academy for Civil Services Exam Coaching

13.  Which one of the following is not correct about Harappan culture?
(A) All Harappan sites are urban character .
(B) The Harappan 01tles depended on Vlllages for food and
labourers | ' |
© Harappan remains discovered even at small village sites
. (D) The most distinctive feature of Lothal is: dockyard
(E) Answer not known
Epsamcupmier anyuur prafsn uhb) SUDITET Sadm 6Tg) ?
Q)  anpuur prefssdd eimanss) QLS EHD Bey (LF)[TSSfﬂBSL.D Qasrras‘&rgg
(B) aemguun BEIBIGET 2 aral&ansa|b, uafluraiseEpssraan §yroksemer
SRUTAGEE |
(©)  anruun prefssden aresmser ABw flyrotisaligid oL sddang
(D) Caorssaer HApriLibswd EIODAPSLD (S
(B) cfor Opfucioma
CCSEZE/2024- 12 ' ARy ‘ Lt
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14. The Gupta emperors before Chandra

15.

coins gupta-II issued only ——

(A) Gold
(B) Silver
(C) Tin

(D} Copper

(E) Answer not known

@U‘W'—@ FHAT  GUBGBESG WHMSL (GUS  DETaTiEET
prerwmgemer L HGWL Qeueludi L ai. '
(A) srsb
(B) Qeudrafl
(C) sombd a
D) 3 | ‘ SHANKAIR "
) Gady | - s=u IAS ACADEMY
(E) el Qsfucidame |

Haque-i-Sharb (or) Hasil-i-Sharb' means ~ .

(A) Land Tax (B) Irrigation Tax
(C) Commercial Tax : (D) Toll Tax

(E) Answer not known
ADTE- @) -aPMTLI SHODF anaflé-@-agmill erarger @umbeT

A) Ao e (B) Srunger cufl

(O aefls el . ‘ (D) sms euf

(E) eflenr Qsfweioame

13 | CCSE2E/2024
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16. Which of the following is correqtly paired?

15
(i)
(iii)
(iv)
(A
®)
(©)
D)

(®

Hematite Ore —  Oxide of iron/

Magnetite Ore — Black ore \/
Limonité —  Dolomite /g /

Siderite —  Iron Carbonate

(1) only
(11) and (iii) only‘

) SHANKAR "
s=u IAS ACADEMY

Best Academy for Civil Services Exam Coa hg

@), (if) and (iv) only .

(iii) and (iv) only

Answer not known

Semeupeuameupded ereneu sflwns @aemésiLL Hererar?

() Oawec sy - GG yss0
. (i) CusmeLl s - SGLLY S8

(i) oCwrererL —.. GL&G\)@»LDL |
(iv) ey - '@@qu sriruCart_
@) () 5L G
(B) (i) wpgid (iii) wr G |
© @), (D) opmd (v) weep
D) (i) wpgd (v) e

' | (E) o9enL Qg,ﬁ]u.uaﬁ\é)emw

CCSE2E/2024 | 14
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ficat ' :
17. Densiiication and compaction are unit operations that are used to

rease the ] : - '
Inc density of recovered materials to reduce transportation

costs and simplify storage. This method is used in

(A) Composting of dégradable waste in MSW

(By Tl@‘anSportation and Transfer station storage of MSW

- (C)  Construction of Landfill site for MSW

(D) Processing and the Reéovery of waste components from MSW

(E) Answer not known

SILT&S) LD"[_f)g)_I-Lb HHESD TeTUg) Quné;@mgg,gjé Qsaasamens GaDLILSHE.D,
Callussams eTafl B T&H@&HeUS DG, LSL'.QL@&;&;L’!L!LL_ QumpLsafler
SiLidew seNss uu.vemu@u) 3G Gewdurhser <ELw. @;_r;g, Wpew
Seeu(pLd 6T stmy_pu.‘ﬂa) ummu@gguu@&mg?

| . ' SIHANKAR -
(A) MSW@&) DEEGD GLOUSDET 2 JOTEGSD IAS ACADEMY

(B) MSWgar Guis@aurss womb uforp Howw Geusliy
(C) MSWssran oo By gergglen sl @uomend
D) MSWellpss sifle) mps@mé Qsuers@ss Lppib BLOLHsso
(E) e QpMwcidena
e : 15

CCSE2E/2024
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18. Recently in Dubai, cloud seeding technology is used to get artificial rajy

The most commonly used seeding agents amon

e
(2)
(3)

()
(5)
(A).
(B)
©)
(D)

(E)

Sigmenouded, gumle Guos _.QS]QDgSDL] Qg'n@dﬁgjLuLb Qewpens wenpew Qun

Silver iodide
Dry ice

Sodium chloride
Lead iodide

Ammonium sulphate

(1), (2) and (3) only
(3), (4) and (5) only
(1), (38) and (5) only
(1), (3) and (4) only

Answer not known

LweTu(hiSslulLg).

Y etreu (15 6u GvTeu H M) 6T TG

2 LGWrflssluESsLLOSeTman?

(1)
@)
3
(4)
(5)

(A)

B

©
®)

(E)

Gleudrarfl @CGureL@

o i Lefl

G&rﬂq_lj_lLb &Germeny(h
FrW a@wnml_(a

2bCwraflwn FoGui

(1), (2) wpmid (3) wLED

(3), (4) wpmd (5) L Ew

(1), () wpmd (5) wrEw .
(1), (3) whpmid (4) wLED>

e QsfMwefdane

CCSE2E/2024
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0 ‘Tamil Nadu Day’.celebrated'every year on

R JIes ) (B) June 18
(C) July8 (D) July 18
(E) Answer not known .

‘§@@E"® Hamn’ @eubleumm aumL(pib Qs ngéjeﬁ Qararrluh &g
(A g 8 (B) sg9arn 18

C) gY%aa8 = (D) gOe 18
(E) ofev Qg,rﬂmaﬂebma)' .

90. Which of the following is correctly paired? | .
(1) 2014 - ‘Target Olympic Podium Scheme/
(2) 2023 — Mera Yuvé Bharat (MY Bharat) —
(3) 1982 — Sports Authority of India (SAD) X

(4) 1984 — . Dronacharya Award was instiﬁute_d 74
(A) Only (3)1s correct | ‘(B) (1) and (2) are correct
(C) Only (4) is correct D) ) ah_d (4) are correct

(E) Answer not known

Spsaam_cupe sflumsLy QuTBSSILLL. Qe GTEnG ?
1) 2014 — gadnds GooL Qws@s HLid
(2) 2023 — arang @aeTw umystd (MY urgs)

) SHANKAR
225 IAS ACADEMY

Best Academy for Civil Services Exam Coaching

3) 1982 — @pAuw elearun @ paamuid (SAI)

(4) 1984 - g,]('égrrmrrriwnrﬂmrrr‘r emg Hmeutiu Lg

A) (3) wrEw &l | B) (1) womw (2) mﬂ
€) (@) wren s (D) (3) whgd (4) &M
(E) e Qsfluciome

S - : 17 e CCSE2E/2024
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21.

22.

CCSE2E/2024 18

arafled, eferé aufiGw Qeem Gré]

gh a lamp for two minutes, thep the

s throu .
A current of 0.5 A passe h the lamp is

number of electrons pass throug
A) 6.25 x 108 electrons

(B) 6.023 x 10 electrons

(C) - 1.6 x 107" electrons

(D), 3.8 x 10% electrons

(E) Answer not known

@ aufwurs @y HIOL_riser UMiigpg

0.5 A BerGarmLtb Geflaid. of
arGammiLib @G rifleraramissatlen eramentléans

(A) 6.25 .><_1018 TS -TTETSET

(B) 6.023 x 10% ‘GTGDBSLUrT@wEdT o~ S|’|AN|<AR y
(C) 1.6x 107" grovsrgrenser - ) IA§AdAmnyCIASerEnMY

(D) 3.8 x 10% s grenaer

(E) e Qs Mwelldena

ISRO prefer to launch Human space flight mission during
75% independence, the (crew member) explorer is named as

(A) Astronaut - (B)' Cosmonaut

(C)* Gagannaut (D) Ganganaut
(E) Answer not known

B ko 1505 sgpBpfon Cungs ownd?
GuHQ&TeTEHd &P &Qlu_l_fﬂemr'r CTEUGUTM] DHEDLPESLILI[HeumiT?

(A)  yevGyrpr (B) asndu(&brrg,rr&

(C)  smampm_ | (D) SBIGMBTL

(E) ofer Gsflweildene
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93. Select the ChronOIOgical order of mentor — student chain in the

establishment of scientific methods

. (A)

®
(©)
D)

(E)

Aristotle — Alexander — Socrates _ Plato
Plato — Socrates — Aristotle — Alexander
Socrates — Plato '—‘Aristotle — Alexander

Alexander — Aristotle — Socrates — Plato

g 3#,"
- L < -

s
SINCE 2 2004

Answer not known

B SHANKAR
IAS ACADEMY"

Best Academy for Civil Services Exam Coaching

NGHEHTar  pepEmaT ﬁg}lmmgw aflsmiy - el  shdelaw

sroafemsliuy CaibosH&EEaD

(&)

(B)

(©)

(D)

()

flevmiiged — é{@@és&rrmn_ﬁ — §T&ledD — ‘S’]QG‘TLGLﬁ
L(J-]GGTTI'_.@I_H’ — &nésumdo‘— SiflevLmiged = é{@@)ésgrréﬁsru’r
snéTecy — 9CaTGLT —'élnrﬂGT'U-L-”L'Lq-Gb = é{@a)és&rrafuri._'r'r
é{@&)é&&nc&ﬁ;ﬁ — oyfevLmiigeD —- 5"@'11&61'0 - GCer_ G

oSlenL Qg,rﬂuaﬂd)mw

19
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24. A force of 1N acts on a body of mass 10 kg. As = res.ult, tbe body
covers 100 cm in 4 seconds moving along a stralght line. Find the

initial velocity of the body.
(A) 6cml/s
~(B)* 5cm/s
(C) 8cmls
(D) 12 cm/s

(E) Answer not known

10 HCewr erevLwerer g Qurmefler 1IN Save Qswou@®dng. @ser
clleereurs oipg Qurmer 4 eflarmgsafics 100 Qs.8 CriGsmige ;55;@Lo
eTETled DFE <y TLbLy Cgmasg,ang,a; asmn_gﬂu_ueuua

(A) 6 Qs.8/e0emmy '

(B) 5 Qs.8/cflarmy.

(60 6 QB ey SHANKAR
D) 12 GsBieflamy IAS ACADEMY”

SIMCEZON Best Academy for Civil Services Exam Coaching

(B) e Qsfwalcrvena

25.  Green light shmes on a rose ﬂower Then the colour- of 1ts petals seems

- tobe
(A) Green _ '(B) » Pink
‘(Cy Black | .‘ (D) Red

. (E) Answer not known
@5 Grmegm Bpuyeild usms gaf geilicflsfng. aGung, oiger Qspsaflan
Bpwrss Coreammeus : '
(A) usans . (B) Qeueflirfleuriy
©) smuy L ' (D) Aeuriy
(E) e GsAweldena |

CCSE2E/2024 ‘ 20 ' | e
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96. The Neyveli Lignite

27.

Government of Indla % th(;(;r;)aorration was established by the
(A) 1956

(C) 1980

(E)  Answer not known

(B) 1972
(D) 1959

QpwCaue  Nsmarn gy

Amieuiiuc L g ? TUGrager foeead @pHu  igeme  euGumg
(A) '1956 (B)‘ 1979
(C) 1980 D) 1959

(E) Neni Qg;rﬂu_jaﬁ]@mw

Arrange the following universities in chronological order based on
the year of establishment :

(1) Manonmaniam Sundaranar University
(2) Bharathidasan University

”s SHANKAR

(3) Thiruvalluvar University =1 A D My :

(4) Periyar University ™ - , cez Bt Academy for il Savices Exam Coaching
A (2), (4), 1), B (B) (2), (1), (4), 3)
© (1), (2), @), 3) D) (1), 3), (4), (2)

(E) Answer not known

@lmm@m uei)asema)ésaﬁgpa;@a;mm Sjmau Blmeuliul L <215 6B a;nwmrﬂ@guuu}
RPRISMLDESA|LD :

(1) wCGarmamoaiwb &f,g,qénm’f LS VESPELD

(2) Urmﬁg,rrés&r LOSMmOESPELD

(3) é)@@e‘n@mr’r LOS®VESPED

(4) QuAlwri LHE@EHPED

®) @), 4, 1,3 - B O,0m @6

©) (1), (©2), 4, ®) LR RORORCONE

(E) e QsRweicrene | X

21 | CCSE2E/2024
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28. Assertion [A] : Backward class commission under chairmanship
of B.P. Mandal was appointed by the President in
exercise of the powers confessed by Article 240.

'Reas'on [R] : The commission has developed eleven indicators
to determine backwardness.
(A) [A] is true but [R] is false

(B), Both [A] and [R] are true; and [R] is the correct explanatlon
O of [A]

(C) [A]1s false, [R] 1s true
(D) Both [A] and [R] are true; but [R] is not the correct explanation

of [A] .
(E) Answer not known a-éAAhlé(/f\EI)QE MY
‘&Lﬁ)g_l' [A]  :  slln@fley  240er  epeod g,eznés@ QUIPTRISLILIL L
famgsdenuy  mamdud  B.P. wewid  eremueuany
GDuGSsLLLL QELAaTBESTaT U@@TLS SRS
- Bludssi. s
. emeud [R] @ Qeveuranammun Qemsmidlu Heavaeaw Emworafllss uSHQarmm

GHaT g smear a@mnasé]ummgﬂ
A4) [A] érﬁu(rmgj gamd [R] seuprarg
B) [A] vogw [R] Qren@o &lﬂu_lrr@rgl; Gugn [R] a1y [Aledpsman

sflurar elletéad
(©) [A] pauprang: [R] shurang -
D) [A] wopmd [R] @rew@n sflwneng;

&rﬂu_!rrm cleTéa1b - e

e [R] wyang [Alefpsren

(E) e Qsfweldana

. CCSE2E/2024 . | o |
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29, Match the following -

(a) Non-Brahmin Movement

1

(b) Self-Respect Movement 2. E.V. Ramasamy

© ShUddhi Movement 3. Dayananda Saraswathi
4

- (d) Sathya Shodhak Samaj Moverﬁent

Jyothi Rao Phule

SI‘l Sahu MaharaJ

@ ® (© @

(A) 2 1 4 3
(B) 1 4 2 3
‘ ¥ SHANKAR
(C) 2 3 4 1 IA:SAACADEMY
1 2 3 4 )

(E) Answer not known

Spésam_eupapLl Qun@gg}s :

(a) anmmmmn@gnﬁ @ussd .1. Gerdlymey LGe

b) swuofurms Gussd 9. m.Qes. gmosmd

© arsd Quéssd - 3. purenps s

- (d) gé,u Gangné sLOMR Qussd 4. Hﬁ”@ma;ﬁﬁé
@ ® © @

@2 1. 4 3

B 1 4 2 .3

©z2 3 4 1

D) 1 2 3 4

(E) e Qpfluciiems

& o 1 23  CCSE2E/2024
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chroﬁological order about E.V.R,

. vents m g
30. Arrange the following € ¢ Justice Party

(1) He became the Pres1dent 0

gg EZ 1)0;:;(315 ;?f;f;:nt of Tamil Nadu Congress Committee
= (4) He organised Vaikom Satyagraha
A) « (2), (4), (3), (- | B) @, D), 3 @
© ' (2), (3)’ (4)’ (1) (D) 3), (1), @, @)~
(E) Answer not known

F.Qau.gm. upd sre euflesiuls Qemau(pD HISDGYSEET RUPEISDLESE|D.

1) s fhs sl He@aIl HETT

(2) =i srEdyeadle: el mT
(3) eur g@gppn@ sridyev sl iguder semealll gcpsmmr

4) Gmeua;a;m &g@mrréﬂr}asm gleusb e

(E) - sl Qsflueidema |

31. “Vaanalum Selvamum Mannarasum Yaan Venden”
[I don’t want rule the sky, wealth and monarch]
Who said these words"

(A). Ramalinga Adigalar (B) Sundarar

(C) Nammalvar - D) Kulasekharar
(E) AnSWer not known .

¢« P : . a9 .
auranm@pd Gedapid LamerTyaid wrenGeuanGLen” — eremm Limg e

(&) Brmoclis St semt B) . spsyit
©), moumpein ' (D) @oGssiyi
(B) oo Gsfwelcoana
SHANKAR

| CCSE2E/2024 - 94 IAS ACADEMY"
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Match correctly
32. ctly the Newspapers associated with its Founders :

(a) Richard Johnston — . Madras Courier

() G.P. Pillai —>i Madras Mail
(¢) Charles Lawson and i nry Cornish 3. Madras Standard

(d) G. Subramania Iyer ——— 4. The Hindu

@ ® © (@
A). 1 3 2 |
®1 2. 3
© 2 3 4
D 3 2 1
(E) Answer not known

A N

Gg,rr,r_'r)guaﬁlgg;mr’r‘e;@l_ein QsmfiyeLw Qewiflgsrear sllwuns Qurr@gg;mm -

(a) Méenp gremger 1. LDSTE Bh_lﬂu_lﬁ'. |
(b) G.P. Qeérener L 2. wgymed Gl
(¢) enmiwed wrger wHL 3. wsyTev GVLTeTL i)

Qamerrfl smirefles ,
d) G. slipwenilu guit 4. 8 adlbg

@ @G © @

3 SHANKAR

(A 1 3 2 4 2= IAS ACADE MY
(B) 1 9 3 4 Rz Best Academy for Civl Services Exam Coaching
(C) 2 3 4 1
D) 3 2 1 4
(E) sferr QpMucidaa

: 3 . ' - CC\SEZE/2024-
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. . ur words”
33.  “Number four and two are itrengthenmg 4 .
~ Zz;mll)ir t“:)) refers to what? ® Thirgkkur.al ‘
(C) Nlaozrlzldiyar - (D) Agthisoods
(E) Answer not known : q o i
. 9 . (2)]
“Brgis @ran@n Qerogisemd TP U or > QUG asee,
GN&Hemg 2 Sa |
(A)  uy@wmg (). Q@.&@mm
(C) progwni (D) 58éG\4
(E) aNenL_ @g,rﬂuaﬁ]a)msu
34. According to Valluvar which will be consider ed Wlth Ulmogt
gratitude? .
- (A) As Bamboo as Benefit (B) As Millet as BenefiF
(C) As Sea as Benefit (D) As Mount as Benefit
(E) Answer not known
TH@ar ‘Uamanuaa) patdlurss Qarereul erar euet@eul GDOILIB SN2
(A) eprde serey par (B). v sjemay Jitzaii)
(C) sLd <jeray pen (D) weoe arey pe
(E) e Qsfwueidame
35. “Kallaarai Kaanungal Kalvi Nalga
'Kasadarukku thookkumaram angae undaam”
Who wrote these lines? |
(A) Bharathldasan | (B) Kannathasan
(C) Vannathasan - (D) Vaanithasan
(E) Answer not known |
a;a)eurrsm& asrr@ma;rrsu Sl LBa)asrras
a;&L_rras@g, FN&E@GWID kCs S GRTLTD” —
- Qsscileang aulls@réE o Aweur Wi ?
(A) LJfTU'é]gﬂ'GGiﬂ' (B) gsmmrgngm
(C) euawamsnaan . D) ecurefamsar
(E) ool QsMucidane e
CCSEZE/2024 26 SHANKAR 0

IAS ACADEMY"
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Paki ;
g6. The Pakistan resolution wagq passed by the All India Muslim League

at its Lahore Session on
(A) March 5, 1933
(B) August 5th 1933
(© March 23rd;'_194().

(D) March 220d 1941

(E) AtisWer not known

T3 1) @‘r_r,‘é,]u_; pevedd & undlevsner SMoTasams anir Long,ﬁLLq_d)
aLQuTes HeapCaupbdluig?

(&) - i 5,1933

(B) symevr 5, 1933

B HUNLS,
EMY
(C) LOMT&E 23, 1940 Best Academy for Civ lSrw. s Exam Coaching
D) wris 22, 1941
(E)‘ SlenL ngﬂuaﬁlé\)mw .
R e o - 27 | ' CCSE2E/2024
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317.

38.

If ABCDE = P1Q2R3S4T5 then which one of the folloizvigg is equa]

to Q2BFV7A.
(A) BQ2V7GP1
(C) BQ2V7EP1

(E) Answer not known

(B). BQ2UGEP1
(@) BQ2UBGP1

ABCDE = P1Q2R3S4T5 aar @aisned Geaa@aeappdr QZBFVTA
TRTUSDHE FOWTEIG 6TEH ? 1 O
A) BQ2V7GP1 (B) BQ2UGEP1

(©) BQ2V7EP1 (D) BQ2U6GP1
(E) eer Qsflweidene '

Gop1 sold a laptop ‘at 12% gain. If 1t had been sold for Rs. 1,200

" more, the gain would have been 20%. Find the cost-price of the

laptop

(A) Rs. 15,000
(B) Rs. 16,000
(C) Rs. 14,000
(D) Rs. 15,500

(E) Answer not known '

Cama e mqesasmﬂsoﬂsmu_n 12% @wrrug,glg)@ aﬂmg)rrrr Cogib @S
. 1,200-56 spsorns Apdlppsmed @arun 20% <s @EHHGHGD-

iy ssaflafuler SiILés elmaamus srars.

(A), . 15,000

(B) ew. 16,000

(C) . 14,000

(D) em. 15,500 | SHANKAR

(E) allenL Q’Q)fﬂUJQS]Q)GU)Q) " since 2004 IA:stA dAmyg:éEEnMY
CCSE2E/2024 i 58, | | e,
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39. What 1s 20% of 309, in 5009

40.

41.

4,18, 7, 100, 180, 294 448

A) 30 e
EC; s | (B) 150
D) 100
- (E) Answer not known | ( ! '
500 @er 30% w96 20/0 Grsmem’p :
@ 30 B) 150
C) 75

| (D) 100
(B) oo Qsfuefdama g it

Find the missing number in the series.

o ) SHANKAR
(A)-~ 48 ’ . (B) 50 -,NCE-|AS ACADEMY

(C) 58 | (D) 60

(E) Answer not known

Qsrhssuul L desrLfalmbg UL amaaTs &reams.
4,18, ?, 100, 180, 294, 448

(A) 48 - (B) 50

(C) 58 W - (D) 60

(E) o&fer QzfMwelerene ‘

The sum of first n natural numbers is 253, then find the value of n.
(&) 22 . -~ (B 18

© 24 - D) 16

(E) Answer not known |

WHH N G eramaef e 8‘&@561) 253 aafld, n- @Gﬂ ALY STeTs.

A4) 22 (B) 18

(C) 24 , D) 16

(E) oeni Qs Mweiicrane

29 , CCSE2E/2024 -
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42. If fox=cat then Xerox may be equal to
(A) terct
(B) tcroa _
(C) tcrot
(®) terat
(E) Answer not known }.
fox=cat erafl®y xerox GTGITLIG) CTSEM 60 @@$@Lb?
(A) terct |
Ry ) SHANKAR
(C) terot ... ASA ACAPEMY
(D) terat
(E)  ofer Qsfwccrera
43. Three dice thrown at once. Find the probability of getting same
‘ numbers in all dice
1 : ‘ " 1 -
A = B
6 ' ®) 26
1 f S .
G — | 1
(@) 36 | | | (D) 5
(E) Answer not known
EPND LSS QETDIS o i | 11 (A S i
aréi Sleniss Hapsaay amm?l—l_uu(?\m(gun@ SAdanss usoLWgn 8
1 ' |
Q) = | 1
6 B) — .
| 4 ) 216
) —
© 5 o 1
(E) ohenL Qg"ﬂ‘“dﬂ@mm

' CCSE2E/2024
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V’

e

The CL;I'VG.d surfacg area of a right circular cylindér of height 7 cm is -
66 cm?. Find the diameter of the cylinder.

(A) 2 cm '
(B) 4cm ‘
(C) 6cm '

(D) 3cm

(E) Answer not known .

66 &.Qe.085 cueeTuTLILELW @ @pﬁmLL o (menerudlen 2 WD 7 Q5.8 eraflep,
g@mmuﬂdﬂ AL b ST, : = g 0¥

(A) 2 Q&5 ‘ ' '

B 4055 | A SHANKAR .-
O 6 Qe - IAD ACADEMY
®) 3 Qe.i8 3

45.

B) oL Asfuaidme

The value of a motor cycle 2 years ago was Rs. 80,000. Tt depreciates
at the rate of 4% p.a. in first year. In second year it increases by

4% p.a. Find the present value.

(A) Rs. 76,800

(B) Rs. 80,000

(C) Rs. 80,128

(®) Rs. 79,872

(E) Answer not known

Qs s65y asand gadlar oo BTHO AAOEEEE e . 80,000.
WPBD WelH %@TIEHS 4% @mmaﬂw- QrerrLmb ek 4% aglastﬂésaﬂp)gj
aafléd sigen sHGUTMSWL cSlana Grebrent ? :

(A) em. 76,800

~(B) . 80,000

%

(C) es. 80,128
D) . 79,872
(E) o9 QsMueddama

31 N  CCSE2E/2024°
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a house. At 5 a.m, all the four ph0nes

46. Therg are four cell phonesf in the first one rings every 20 mins,
will ring toggther. Therea teri,ns o ihird one TIngs every 40 min,
second one rings every 30 WS % ol Ay what time, will the foy,
and the fourth one rings eve%‘)’? :

" cell phones ring together again- t
(A) 1P.M. gy : |

SHANKAR "
S =% IAS ACADEMY |
(G) 3 P.M. -SINCE 2004 Best Academy for Civil Services Exam Coaching * |
(D) 3AM.
(E) Answer not known o
-G ; 5 velléE, o
Slud BrenE @aGuUiaET o eTeTar.  &STE®E & eTdan

g%)m(%tjgs;@i @S;jrmna; gals@h. et P5D SioaGusluneang Qm@mn@
20 AL safllgib, @ raug maCudl gatarm 30 Bl ksaigp,
eparpieug seaGuél galenm 40 Al msefgid, prarsnaug AoaGud
aaQeurg 50 Al msalaid galssamer aefle, e Bar®b eriGung
RATOTS RNEGD? ‘
(A) 9puse 1 wenfl
B) @husd.1 wenfl

- (C) Qpuse 3 wenf
D) wousd 3 wenfl .
(E) o9ev Qsfwaiidana

q7. If HCF of x®-8y° and x® - k*y* is x +ky then value of k

| (A) - 2o0r -2 “ B) +2
© -2 D) 0
(E) Answer not known
3 3 . .2 329 ‘ ' S
Lﬁ‘e_ﬂ;ﬁy oL X —k.y & BuQue Qurg eauEsd x+ky ealld k&
(A) 2 sivag —2 ' B) +2
©. -2 | M) 0
(E) Men Qgsfwefdrena

CCSE2E/2024 32 . {:}‘
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48.

49.

50.

how |
e many months the principal of Rs. 2,000 w111 double at 8% per
‘annum in simple interest? .

‘ (A) 144 months . B) 150 months'

(C) 120 months (D) 140 months
(E) Answer not known

safl Qg (PO D& 2 00 0
LOMSLD écb@[_o? ©- 0, 8A’ aul_lgaissdled @Tligiums ecreueuaney

(A) 144 U?”§>r5185m | (B) 150 wrshiser
(C) 120 wngrisdr (D) 140 wrsrser
(E) e Qsfwelcrena -

| | - SI-IANKAR

The LCM. of 3,2.7and 0.00is %% IAS ACADEMY"
A 2.7 . | - (B) 0.27

(C) 0.027 gy - BHAANKAR

(E) Answer not known . e 'A§A{§,§/§P !:MY

3, 2.7 wpmd 0.09 ar Eflo |

(A) 9.7 i gl B) 0.27 -

© 0.027 S v D) 27

(E) ofen anﬂu_laﬁla)sma)

Which one of the following lies between ﬁ and Jg 9

+@B) V2 i > (B) 3

© i - D5

(E) Answer not known

Spsanamuehbled ergl 37 LD{DQILD */— @QJ!D.@LD@ @mguﬂw Siewow|b?
@A) 2 ; +(B) 3

© 4 ' ®) V5

(E) oo Qzflucidrena

33 o CCSE2E/2024
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51. Arrange the following Books of Jawaharlal Nehru in Chronologie,

order considering their year of publication.

e
)
O
4

@

(B)

© .
(D)

(E)

An Autobiography : Toward Freedom

Glimpses of world History
The Discovery of India

Before Freedom

(4), 3), (2), (1) SHANKAR

T | |AS ACADEMY
(2)’ (1)) (3)’ (4) ' : Best Academy for Civil Services Exam Coaching
(2), 3), (4), (1)

(2), 4, 3), (1)

Answer not known

geuanioord  Crmeder — mrosemer Sioa
Slig e ued sroaflosiupsss :

(1)
@)
3
@
)
(B)
©)
)
(E)

@ff swsilons : %JB??'UU: Coréd)
imé QUIVMM 6 LIMTeney
BpBundien sy
ssBSTEADE apar

@, 3), @), (1)

(), (D), 3), @)

(2), 3), (4), (1)

devL Qg,lﬂmag]@mm

CCSEFERH g

Qeuefu i
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Who among the following had started ‘Mitra Mela’ Association?
(A) Shyamji Krishna Varma

(B) Vinayak Damodar Savarkar

(C) Lala Hardayal

(D) Sohan Singh Bakna.

(E) Answer not known

G ereumeuaTeu bl ‘US],{BUFT Guerm’ FaGEMS QgTLrhdlweul wmT?

(A eywmbe] Hmelyent cuiom |

(B) eprws srGwrsi sreurési = |

(C) oreorepigwmer e 1

D) Gsramer A Liser o 47 ’ al:‘ISA/TéS{?EI)QE MY"
E) oo Asfuciome , s...\cmo, .Bes,.Acaf,em,f.,,msmesExamc°fching .

Who foundetd the All-India Muslim League in 19067? |

(A) Muhaminad A11 Jinnah |

(B) Khwaja Salimullah -

(C) SirAgaKhan , |
(D) AK.Faizul Haq . gglﬁjlgr??vna\ggfsg ];Onuengfe :heK ?g\lﬁgers
(E) Answer not known s - -
simarsiAL e b s Ao 1906-0 Apelug wri?

(A)  wswg < ferarm ' | .

(B) ~ daurg sallapdaT

(C) & ams e

D) o.Cs. oruscd ans

(E) elen QsMwcidene

35 CCSE2E/2024
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Sir Aga Khan was a founder. Khwaja Salimullah was also one of the founders

Highlight


founded 'Ramakrishna

54. Assertion [A] : Swami Vivekananda

Mission to popularise the teachings of his mastey.

Reason [R] : Ramakrishna Mission was a monastic order apg

devoted itself to the spiritual development of May

(A) [A] is true, [R] is false

(B) Both [A] and [R] are true and [R] is the correct explanatigy

of [A]

(C) [A]is false, [R] is true |

(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A] |

(E) Answer not known sﬁl\-ISA/Té<A/f\IDREMY

spm [A]l - @ seumd ACausrambst sz (@& @meNen Curgeamarsmar

uuuu.@mrmaﬂ@ab,,mrr Blegenar Hlmiefemmi.
SMTeRTLD [R] o @rmodgaya Blager @ SIDUD Siemwiiy whHmId <

LDGUﬂ,éBGUﬂGUT < anls a_lmrrseﬂa;@ satenan oiiLe5ss.
(A) [ ]Efﬂ [R] Saim

(B)  [Al vomw [R] &, [R] [A]lW@eyan_w sfluman @S]Gmsasm
(C) [A] saug, [R] &

(D) [A] wpgib [R] & ama [R], [A]lWeyenw sflwmer éﬁ]mé;aswd)w
(E) ellen QzMNweldrana

CCSE2E/2024 . "
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55. Arrange the following studies of Poverty in India in chronological
order

(1)
@)
®
(4)
(A
(B)

©

(D)
()

OJha s study
Bardhan’s study
Minhas study

Dandekar and Rath studyl

@), (@), (1), 3)
SHANI(AR

(1), (4), (3), (2)
s IAS ACADEMY
(3)? (2), (1), (4) ' . | ) SINCE 2 Best Academyfr v Services Exam Cosching

(2), (1), (3), (4) SHANKAR
Answer not known - 4 |AS ACADEMY"

Best Academy for Civil Services Exam Coaching

@nswredled @guas)m Cupdlw lﬂsisreu@u) Qllasmer  STeuflemsLg.

RPRIGHOESA|D ©

(1)
(2)
(3)
(4)
(A)
*(B)
(©
(D)

®)

PRT Wa|

LFGTET < UIey

e ey <16y

BeEmGL&T LHHID 715 syl
@), (4), (), (3).

1), (4), (3), @)

3), (2), (1), (4)

(2), (1), (3), 4)
NlenL Qg,rﬂu.:a’i]sb@w

37 CCSE2E/2024
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56. Inorder to double the Farmer’s income through digital technolegies,
action should be taken from

(i) Technology generation and dissemination, policies and reforp,

and development initiatives
(ii) Policies and Reforms.
(i) Reforms and Development

@) Artlflclal Intelligence -

@ @only *® @ and(v)
(C) (i) and (iii) | (D) @(v) only
(E) Answer not known ‘

983l L&) an@wgl_umam [N aﬂmenuﬁla;aﬂm m@mnmg,mg, @iy riungs
T(h&s (Smeomq_u_l BL-GUl S

Q) Qsmfeomiu 2BaTEsSD  LHMID  uFed, Qsraranssdr : wHpd
ETH(msshiseT LODID eueriss omsdsar
(11) QameTenss(emLb, e?r@@gg,mg;@m:

| (111) &idmssses, GYarGanhpapin SI-IANKAR
1IAS ACADEMY

. = (iV) QEUJ,@QDGS @Q.BTQ’UT@QIL}) : ‘smcszom Best Academy for Civil Services Exam Coaching

A Q) oo
O @) gt (i)

B) @ womw (iv)

(D) @iv) L b
(E) Qﬁ]mg Gsfluedang

CCSE2ER2024 ', 7
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57. Match the following :

(a) Tax Revenue 1. Interest receipts

(b) Non-tax revenue 2. Net market borrowings

(c) Capital receipts = 3. Taxeson Income and Expenditure.
@ G ()
(Ar 3 1 2
@ 1 2 3
C) 2 1 3

SHANKAR :

®. 3 2 1 IAS ACADEMY

(E) Answer not known
lﬁ]ﬁhw@mm@ﬁ)mm QuTBSE!s
(@) eufl aumauml 1. aly 5ég

(b) eufl SOOI U(HETL 2. flay sheng sLensdT

() epaosgar rEgser 3. . aumwnar bpmid Cswey Bgrar afser
@ ® ©

@A 3 1 2

® 1 2 3

© 2 1 3

™3 2 1

(E) elen QsMweevenew

'CCSE2E/2024
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58.  Match the following :

Enacted Year |
(a) 1963 , 1

Name of the Act
'Prevention of Insults to National
. Honour Act
. Representation of People Act -

b) 1991
~(e) 1971
@ 1951

. " Government of Union Territory Act
Government of National Capital
. Territory of Delhi Act

@ ® © @
(A). 3 4 1
@ 1 2 °3
© 4 3 2
@2 1 4
(E) Answer not known

& SHANKAR
224 IAS ACADEMY

Best Academy for Civil Services Exam Coaching

§g9é;a;666rl_mjj)smpﬁ QurBsgs :

@u_s,mg)um_L <, (B . GLL.&)QGGT Quuwsi

(a) 1963 . 1. priger Qu(paL &mm@a&uu@mmgg
: 5 gL Qe s L

(b) 1~991‘ wéaar ArdHHsseus s Lib

(c 1971 Qidu @adlun uEdHs s b

(d) 1951

Csélws samapat QL @amdluls LGEé

. SLLD
@ ® (0 (d)
@A 3 4
B) 1 . 2 3
€ 4 3 2
M2 "1 4
(E) e Qs flwelcrene

Ww H BN
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- 59. Assertion [A] : Governor in the Indian Federal Syétem is

assigned dual role, as the constitutional Head of

2 SH ,
= | ASA/I:IéSQIDQEMY‘M the State as well as the representative of the
SINCE 2004 Best Academy for Civil Services Exam Coaching C e rltre ;
EOSERANKATQG Office of Governor is against the Federal
= IAS ACAQEMY
SINCE 2004 Best Academy for Civil Serd hu@ihure. ’

(Ay [A] 1s true, but [R] is false _

(B) Both [A] and [R] are true, and [R] is the correct explanation
of [A]

(C) [A] is false, [R] is true | _

(D) Both [A] and [R] are true, but.[R] is not the correct explanation
of [A] e s |

(E) Answer not known

sapm [A] D @bHu sl LmiAND, EbET, SFdlen  gemeeuT LOHMID
s rfler rHHlSl erenaud @ aﬁ’lg,mnCﬁ, Liewtlgener
Qewifmmi. ‘ :

smyemd [R] @ . <penph aenp HpeuarGo s L &g adyrans)

- (A) b [A] &, pammed smyend [R] seumy
(B) sapm [A] wogd smemd [R] #fl, Cogib spm [Alssrer  sfwnar
Aersswns smyed [R] 2 ereng! |
(©) sapp [A] oug, smyand [R] &
D) smdm [A] wppo smed [R] @ran@n s, eyemod spp [Alssren
sflwnen edergawons smerd [R] @dame

(E) oo Qsfueddam

& AR ' CCSE2E/2024
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60. The framers of the Constitution incorporated the dut?es of the Stat

e =
in the constitution in the for.l}l of th

(A) TFundamental Duties

(B) TFundamental Rights |

-

(C)e Directive principle of state policy.

(D) Rights of Citizen | SHANKAR
' , i IAS ACADI:MY

SINCE 2004 Best Academy for Civil Services Exam Coaching

‘ (E)  Answer not known
aqﬁ_ywmmumu 2 (HeurdSlueiser rdlenr &L anserrs Srdwaenids
Qb5 eugeusdd '@gr‘rg‘,g,m. |
(A)  eitiueL sLamosd
(B) é{@ﬂumL 2 flenwser
(C)  <irdlen QJ@&;ITL@LBQE,@@@M;G“
(D)

G055 @EGTGN 2 flayip gy

CCSE2E/2024 | o . - o
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61.

62.

T}

Which of the following bodies doesn’t/don’t find mention in the
Constitution? ’

(1)
()
3)
(4)

(A) '

©)
(1)

National Development Council
NITI Aayog  +
Election Commission-

. ) . 3 7
Finance Commission

(1) and (2) only : (B) (2) only
(1) and (4) only, (D) (1), (2) and (3) only
Answer not known ' '

SpsarL  Si@LULsD el fereneusar SATfluemblyE FULGHD
sresTULL 6Ndbeney ? 2 L . .

(1)

@)

(3)
(4)
(A)

©)
(1)

Casilw auariiedls @@9.

Bl Cuns < & SHANKAR .
Camad <pementLb — IAS ACCAS\D!EmMY
BEl peamruitd |

(1) wombd (2) L Eb (B) (2) @

(1) wpgid (4) wGid - D) (1), () wpgw (3) wrEw

ellenL Qsflweldene -

Who among the following is the only woman historian to have
written a historical account of Mughal period?

()

(©)

Gulbadan Begum (B) Zeenat-un-Nisa Begum
Jahanara Begum (D) Zeb-un-Nissa Begum

(E) Answer not known

SemeumueuiiaEne s TWITgEeT e?;rra)g,.g@ BLbs auomy Bepeisamer
Twdwu @Cr Que euremby S MW wmi?

(A)

©€)

(E)

Gousear Guaibd _ B)- @Wﬂg—&m—{r_ﬂ&n Gusw
saermym Guslb (D) Q%U'&@T-f)\(fﬁ Gusd
eflen QsAweldene

43 , | CCSEZ2E/2024
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63.

64.

(D) He annexed the klngdom of G

Which one of the (ollowing is false with regard to the reig, ;
ich one O

Ahmad Shah? |
capital from Gulbarga to Bidar (1425)

A) He transferred his
(A) ween the Dakshin party and foreign party

during his period
1424-25

ujarat to his Empire

(B) The rivalary bet
became accentuated

(C)e He conquered Warrangal in

(E) Answer not known

=I5 agmedlen < Aulled &ECLp @gﬂulﬂl;l_wﬁ)pﬂd) 6Tl SCUDTET) ?

(A) soeps®r Goursareladl®Hs) S wrpbanmi (1425)

(B) <o stwsdd LGS Bualneh Ceaelsr s  Guase
Qe wlerar Gorge upd Cusliul B ubsg

(C) 1424-251b <yaimiged QUTTTRIGE GTGTD @t_m aeLUHDUILLLE)
D)  @nis <ires s CuirsLer @oansgds CleTamLmi

(E) oS OsNueidoame

Who called India as “Ethnological Museum”?

(&) R.C. Majumdar B) R.K. Mookerji
(C) H.Risley - (D) V.A. Smith

(E) Answer not known

QEHur m ‘el @Q)E,éﬂéh SIHRASTLSWSD Tar Henpseeul Wh?

) ha g B (B) <=i.Cs. Wpaedl
(C) Qané. MNeve . ‘ D) .o cofls
(E) ofeni Qg”ﬂ“dﬂ@m@ .

SHANKAR
IAS ACADEMY"  ##

. CCSE2E/2024 ' 44 “smcszoo.i Best Academy for Civil Services Exam Coaching

— | o


Highlight

Highlight


65. Which of the following Harappan sites are not in India? -

66.

(A)" Mohenjodara and Harappa (B) Lothal and Kalibangan

(C) Bhanwali and Ropar (D) Surkotada and Dholavira
(E) Answer not known

SpseFTLUONIET aThs appuun prsfss semhser sHAUNWE @HEwneild
Qame?

«(A) QuraerssrCrm wpmbd epjuiur (B) Gorggsed whHmib smedlumniser

(C)  uvereumed wHmIL eHLIMT (D) &iCsrrim wpmbd Caramedym
(E) el QgNweldena ' :

Around 25 districts in the east coast; 10 in Tamil Nadu,
7 in Andhra Pradesh, 6 in Odisha and 2 in West Bengal - are
vulnerable to cyclonic storms. Among these, which area accounts to
70 percent of the cyclones of severe categories? |

(A) Chilika region -
(B) Nellore region

(C) Machillipatinam 2 si-'ISANKAR §
(D) Sundarbans Area ‘ - Pamcezons BA{\ch/i\P!EmMY

(E) Answer not known

Hipses sLbs@ruild somm 25 LIl LRIGET; SUlDHTL g6 10, -ypdyredled 7,
gusrale 6, wppb CoHE anssded 2 - Gpreefl  Lwdsermed
LTd&slILLGamigweaal. GQapPld, ahsl UGHUTaE SH@LWTET GUMSL
Lueaseie 70 sseis uTSHlmu SA@LWD?

‘(A) Adar uEd

(B) Qgéogznﬁ &GS

(C) w&OALILL g aLd
(D) &HSTEUGTLILIEGS)

(E) e Qsfweidvene

45 CCSE2E/2024
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67. A tribe of India is

(1)
(2)
(3)
(4)

Connected with Eklavya in the ‘epic Mahabharatha

Lives in Aravallis, Vindhyan and Satpura Ranges

- Hutment on a small Hillock

Maize is their staple food

Which tribal group of the following suits for the above conditions?

(4)
(B)

(C) .

(D)
(E)

Gonds
Todas
Bhils | SHANKAR
: 4 IAS ACCAS\D!:MY
Santhals : a
Answer not known

Sp&sTEmID S hnIsEREEGNIu @bAwureler @ LpkiEguiarnd erg)?

(1)
@)
®)

4)

A)
(B)
- (©)
(D)
(E)

CCSE2E/2024

&TUME @S&Te SSTULTSSTD aHmaeUesL 6 Qg,nu’fl_;ml_u.lamese'n
< Teudal, elpSu wHmb F&4TT LS Q;_r;m_rraserﬂeu GUTLPLIGUT& 6T
Sdlw @mgus;mﬂsu G4DF JAMLSHD

D&ETE G&rrm@m dgsran o awray

Canam@ser -

Camirger

Sléveiv

&MHGV&ET

e QsMuedena
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68.

69.

The northern upland of the Karnataka Plateau is known as

(A) Malnad

B) . Bet
- e SIHANKAIR
©) Dhasan | A ACADEMY
. (D) Maidan " since 2 Bes t'A ademy for Civil Services Exam Coaching
E) Answer not k :
& Hot o SI-IANKAR ,
sipris  SLyole  aLssew IASATADEMY _
&mgpaauu@é}g@ - ervices Exam Coaching
(A) LT BT(H
(B) ¢ Quieur
(C) sneen

(D) ewLmen
(E) eten Qg,rﬂu_laﬂsbémo

Which Ministry launched the Digital Intelhgence Platform (DIP)
and ‘Chakshu’ facility on Sanchar Saathi portal?

(A) Ministry of Power

(B). Ministry of Civil Aviation

(C) Ministry of 'Communications and Information

(D) Ministry of Earth Sciences |

(E) Answer not known

GTI.BS_?» D MDEFHD FEHFMT &rrg,,é_ﬂ Guimir_LeSled ) (=) @mem,rﬂm e HmILD
‘Fréage eusdaw Qg,rm.rmaﬂu_@?

(A)  Her oemsesD

(B) . Aa9é efwrar GUITEEGUTSS HPDEFED

(C) sseum Qg ity SMFFELD

D) Yol sflefwe Simwsssd

(E) &fenr Qafwalerensv

47 - - CCSE2E/2024
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’70.‘ Match the following :
Part I
(a) India—

(b) Japan
(c) United States

(d) China

Codes :

@ @® @ @
@A) 5 2 3
(B) 2 1 4
(C)e 2 4 1
M 5 * 3 1
(E) Answer not known -

DN W O

Dereupeuareupenn QUITBESIS -

usd I
@) @pdur
(b) suiumen
() <QuAssT |
(d) Femr

GO H&eT :

@ b © @
A 5 2 3
B) 2 1 4
© 2 4 1
D) 5 3 1
(E) o9eni OsAwemane

DN W ot WA

COSE2E/2024
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 Part 11
Bald Eagle

. Dolphin

or s W b M

Peony
Cherry blossom
Royal _Bengal Tiger

SHANKAR
2= |IAS ACADEMY

000000000 Best Academ§' for Civil Services Exam Coaching

ugd 11
UWPEDSE &S
Lmed1Sler '
WCwme
Gerl weir&s
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12,

(B) efen QsMwelidoama

Who had been given the “Shilp Awards” by the Ministry of Textiles
and Industry?

(A) tolegendary drama artists

(B) torural women entrepreneurs

(C) tolegendary farimers

(D) to legendary crafts person

(E) Answer not known

majell  wHmD  Cgmlogiamp éqsa;wégggg,nd) Ao emEsd  WNHES
aursLILGHEDS) ? '

(A) -l_JSSI(QQLIﬁ),f_T) BTL&& &M EH TS EH6E

(B)‘ Armoliym Quer QgmifleopenarGeuri o o
(C) ysw@uop Neusmulser \ sll\-ISA/{:Jé<A/?DFlEMY

. SINCE 2004 Best Academy for Civil Services Exam Coaching
(D) ysPQuHY maeilmars &ame EhiaeT

A SHANKAR
225 IAS ACADEMY

s
SINCE 2004 Best Academy for Civil Services Exam Coaching

Some parts of the moon never see sunlight. Because the axis of the

moon 15 - to the direction of the Sun’s light.
(A) Perpendicular (BY Parallel
(C) Same (D) Opposite

(E) Answer not known

Hevelenr &lo u@g‘,];g;eir' auCungid G&flu geaflliaard unﬁ@g@guﬂ@m@. gem

aapred  Hecdar oEs Giu  geflder  Hosses - 5
QLusgme. ‘

(A) QsrEssns - (B) @eamuns

(C) swwrs (D) adlyre

(E) e Qzflwaldene

49 CCSE2E/2024
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73.  Match the following : 74
(a) CO2 | . Ground water pollution and
particulate in air
(b) NOx . . Global warming
(¢) Lead (Pb) /" . Acid rain

(d) Hydrocarbons (HC)-&An ingredient for the formation of
» photochemical smog

@ ® © @
@wz2 3 1 4,
B 2 1 4 3 I

4 SIHANKAR
1

©) 3 2 1 ™

®2 4 3 o IAD ACADEMY

(E) Answer not known

Gereupouareupenpls QUImHESS :

(a) COq L Hessy B wreur® wHmb sTHHd : 75.
‘ 2_eTermr 'Q]BS.@@ D& ‘

(b) NOx 2. - yei Qeuiuwwionged

() snfwb (Pb) 3. Sfle weay

(d)_ @anl Crremiuar (HC) 4. gafl Caufulwue yesuaf

2 (HAUMGEUSDHSTET 6(h eLpeOLIElLIm(meT
@ ® () ' .
@ 2 3

(B) 2 1 4
© 3 2 1
D) 2 4 3
(B) eflen Qsflweerang

~
r—aﬂkw»&&
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74.

5.

Assertion [A] : 2-4-Disused as herbicides.

Reason [R]  : 2-4-Dinduces production of fruits without
fertilization. |

(A) [A] 1s true, [R] is the correct explanation

@)= Both'[A and [Rfavetrue . Ejther B/D

(C)* [A] 1s false, [R] is true
(D) - [A] 1s true, [R] is not the correct explanation
(E) Answer not known .

ann [Al 1 2-4-D saarsQamadurs Qeudu@ps)
smpamd [R] @ 2 -4 -D smeyproed safl o meurs STTEMOTEDSI-
(A) [A] sfwreng, [R] sfwrer eferésid

B) [A] wpmid [R] sfwnengy ' & SHANKAR i
(C) [A] seuprang, [R] sfwneng = IAS ACADEMY

(D) ' [A] GIﬂU.Jﬂ'G(ﬂ'g] [R] Efﬂu_mm @S]GTTE}S&SL&@GDQ) il Services Exam Coaching
(E) oflenr QasRweiidvena

Objectivity, Predictability and Generality are the features of

(4) Scientific method
(B) Scientific enquiry
(C), Scientific attitude

(D) Scientific experiment
(E) Answer not known

HDeUWUUIL L &e6TenLo, ‘@masmﬂuuggahmm LHmib ' QuNgIELESETLD
S Hweney WGaT SIEHEGETTS LS DE). .

(A) e apen
B)  eiflelue efsryamen

(C) SiMeNwey eTLILITETenLD

_ D) emcud uACsTsmar

(E) oQenL QgMwelldeane

51 CCSE2E/2024
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76. Identify the correct expansion/meanin

g of “CEDAW”

pansion and development of Adolescent

(A) Convention of the ex
Women
(B) Convention of the oxecution of different ideas for women
(C) Convention on the olimination of all forms of discrimination
against women :
(D) Congregation of the eradication of all forms of discrimination
against women
(E) Answer not known’ |
Qeimeu(meuareuhdied «CEDAW” aemn  efflaunésgdlan/umpeer  sflunss
Csih0s[H&seL. ' g
(A)  eueri@enid LR eu L1 Qg s el 6T perGarhmbd HYID @Qlﬂa.lrré;a; LOABME)
(B) Quansersstar LG H(HEEI(HEUTESEISMET B L (PeDUILHSEID
LOTBT(H .
(C) QuansEpse asymen Smaidgl 6fls LMGUTLIgarLb bé@auspstan
- B[ . :
D) Quams@sse adyrar Simasg 6fls UMEGUTLIg@aLD @UlCiugHsTar
Fon ¢ : '
E)

Mo Qsflueiame

77. Which one of the following is a one-stop source for all the geospatial
data for the state of Tamil Nadu?

(A)
(B)
(€)
D)
()

Tamil Nadu Geographical Positioning System (TNGPS)
Tamil Nadu Geographical Information System (TNGIS)
Tamil Nadu Global Information System (TNGIS)

Tamil Nadu Global Positioning System (TNGPS)
Answer not known

sOPETH wiHlsdharar omanss LMD STasEREED Y6 uaTauHDIe
o5 G DLBBG oatangy BTUBEBEGD Geieu(s .

(A) s0REIE LelWud Haeriu@sssd <ewliy
B LIS] . ﬂ'@ L{QS]US] . . . 2 ,
(B) 5@%2@ Wed F&auch jewuy SHANKAR y
(C) 50PET6 2-aseamel oo simwiy gt |AS ACADEMY
(D) gd@@"‘@ &Q)a;mna(ﬂu_j @mmu[—l@‘ésgw élGU)LyDNEE Best Academy for Civil Services Exam Coaching -
(E) e GsNweidama
CCSE2E/2024 > -
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78. The United.Nation has declared 1987 as

FEE

(A) International year of Girl Children

(B) International year of Shelter for the homeless
(C) International year of Women

(D) International year of Cleanliness

(E) Answer not known

1987 - 8 ————— 95 psdw Br () sou DdS55.

(&) stauCse QuaT Gppmgsdt e |

(B) e&ieuCse 2 ampafib @Gb@ﬁgmﬁas@é;@ 2 emeilL b GULPMHIEGLD 46T (H
(C) sieuGse wsalissrar o ’ | '

D) sreuCse ass5HDaTE < 6HH
(E) oflen QsMwafcvenay

In which year Flipkart signed a memorandum of understanding
with the Tamil Nadu MSME Trade and Investment Promotion

Bureau?

(&) 2021 R -

B . SHANKAR -
e =5 IAS ACADEMY
(C) 2 0 O 1 SINCE 2004 Best Academy for Civil Services Exam Coaching
D) 2011 o |

; SHHANKAR N
(E) Answer not known TAS ACADEMY

ans @ Geflosmi, sAppt® MSME angssn womb wsd@
sorés el Lfbgiamiia) L lWUESSI-6T @UUBSEED asQuWsELLg)?

@A) 2021
(B) 2018
(C) 2001
D) 2011
() e Qsflueidvma

53 ' CCSE2E/2024
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80. Match correctly the following foundations with their corresponding

names:

(2
(b)
©)
(d)

(A)

B)

(@
)
®)

1. A. Singaravelar

South Indian Liberal Fedexation

Kudiyarasu Journal 2.. C. Rajagopalachari

Emergence of Labour Oragnis Thanthai Periyar

Swatantra Party C. Natesan

@ ® @© @

4 2 1 - 3

4 1 2 3

I —— @ SHANKAR
3 4 1 2 225 IAS ACADEMY

’
SINCE 2004 °  Best Academy for Civil Services Exam Coaching

Answer not known

deteu@pd - SigsseThismer o5 QETLLeLw QuuisGerr@®  sflwns

QurmEHs : |

(a)» Cenafllpdw pa ;rﬂ@pU)éc FRIGD | 1. A.Qréw;my@meur’r
() ©Gywurs @sw 2. C. grgGarunemrer
(0 Qsmfareri eewriyseaen Csmhmid 3. shes QuAwm
(d). &ShAT HL_8 4. C. BGL_geir

@ ® © @

A) 4 2 1 3

B) 4 1 2 3

©C 4 - 3 1 9
(D) 3 4 1 2

(E) &len Qsfweldrana

CCSE2E/2024 - 54 | 0
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81.

82.

According to 2011 census, the density of population in Tamil Nadu

1S

(A)
B)
(®)
D)
(E)

(A)
(B)
(©)

(D)

(E)

450 per square km
555 per square km

650 per square km SIHANKAR.

22 | AS ACADEMY"

- e Z
SINCEzoo4 Best Academy for Civil Services Exam Coaching

750 per square km
Answer not known

. 2011 wésdr Qgnes. ama;@%@g%m$mam QAsTens L iT5S)

450 e 5517 8.8 ek o ke
555 @ s&iT &.15

650 @ sgir 8.8

750 e EQJ'II 8.8

sl Asfweidema

Tamil women who were competent in literature, music and drama
were called as

(A)
(B)
©
D)
(E)

Mudukkuravai

Mudinmagalir

- Viraliyar

Kanigaiyar
Answer not known

Qasdwd, Gans, ;_r,rrumo %QUJ@JD,@GU Cgirs Qumﬂ) sWOPL QueTser

(A)
(B)
(C)
(D)
(1)

GTETM S ELP&HELILILL G,
PEIEGDa
(WPlgeTgef i
eSlyedlwr
santlengw i

QQGUM_QQMJQS]GDGMD

55 . CCSE2E/2024
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83. Choose the right matches among the followmg

(1) Thiru.V.Ka | _  Desabakthan
(2) Subramania Bharathiyar —+ Hindu X
(3) Annie Besant , _  New India .
(4) Kasthuri Ranga Ayyangar = Indig 5
(&) (1) and (3) only (B) (1) and (4) only
(©) (1), (3) and (4) only ‘(D) (), (3 and (4) only

(E) Answer not known

Geraumd aumsse QL Cu sflurear AurESshsmaT Csitay Qewiwayb.
1) &@@95 | _ —  CGssussen

(2)  sugwelu urgHwim = @b
B) iemaNQueer - Ay @sdwur -
(4)  sevgrM ghis SLwWRISTT = QuHwur

@) @) wppw (3) wrEw
€ (D), 3) wpm> (4) UG
(E)  efer QsMwueidema

B) 1) vppo (4) weEw
(D) (2), (3) wpmibd (4) wr Eid

SHANKAR
225 IAS ACADEMY

SINCE 2 Best Academy for Civil Services Exam Coaching
84, ——  oriod

original name was Kumarasamy Nayak.
(A) Kattabomman

(C) Dheeran Chinnamaléi

(E) Answer not known

(B) Oomaithurai
(D) Marudhu Pandiyar

T QupQuuir @LD"UB‘HLIS] BIWLI&SIT.
(A) EL[.Qummon

(B) oaen
(©)  Srer Adramvency eIy

(E) efeni Q5 Mwelcrengy . | (D) LB umesig wiir

CCSE2E/2024 "
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85. ACCOTdmg to Valluvar, ‘what is the weapon to destroy the arrogance

of foes?
(A) Heroism ‘ ~ (B) Torce
(C) Fort | - (D) Wealth

(E) Answer not known

‘vasalldr  sTusms OILE@Dd  Spusd  GTED  GUETERGT  TH@as

@u@@éﬂmnn')
A) ofgo (B) LenL

(C)  <am (D) Qeeveuld
(E) eleor Gsflueioama | '

86. © that man desire it is plaln Whom others wealth

Delights not feeling envious pain”.

Whom does Thiruvalluvar refers to in the given above Thirukkural?

(A) Nor wealth nor virtue does that man

(B) Man of envious heart '
' (C) Envy they have within |

(D) Goodman

(E) Answer not known

2= - SHANKAR

4 Qpennésn SO 'AﬁAﬁ,,C/i‘EEMY
Cuentrg .@4@95;5;@113 Lme . |

eTem Wreny Sl(meueT@heuit GG ST ? '

(A)* omer s CouamLmHmer

(B)  wicucilw OpErasgmer

C) <siysery 2 emLwier

D) Qecuewme |

(E) &fevr QsAweldvanew

57 . .CCSE2E/2024
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87.

88.

What kind of Dhoti worn by maternal uncle while _singing lullaby
you identified?

(A) Silk Dhoti |

(B) Sandal Dhoti

(C) Thuvai Dhoti

(D), Mallu Dhoti

(E) Answer not known

STOTLHU UTL 6l STUILMDET &L lg aU(HLD Caully. euens TEI?
(A) ul® Geuly '

(B) spsar Geurg .

(C) smme Geur iy

D) weigy Gaur iy

() e Qsfueioame

“Utruzhi uthaﬁyum uruporul koduthum?” —

What field is eulogised in this Purananootru Paadal?
(A) Education (Kalvi) |

(B) Charity (Eegai) |

(C) Integrity (Nermai)

- (D) Truth (Unmai)

(E) Answer not known

‘e hmfl 2 sefluyib 2 mQummer QarHsgn” —
Copangy)ib U
(A) 5@l

B) res

(O Gorew

D) o aweno

| A NIKAR N
(E) oo Qsfluefoeme p.... Al‘_jsl\-ISAACADEMY
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@n,ﬁ)g]uuNch Sy g6 SplienLs Gueﬁlugjg@eﬂdng)gﬂ?
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89.

90.

Choose the Sangam period in which the  poet Nakklrar was
considered the most predominant poet :

(a) First Sangam .
() Third Sangam.

- (¢) Second Sangam

(d) Fourth Sangam | -

(A) (a)only - (B) (b) only ‘
(C) (c) and (d) only ~ (D) (b) and (c) only
(E) Answer not known |

&Gy Qasn@a;esuul_@mm srsHd p&ETT e @aséﬁu_l L{eoeums ﬂﬂbga: §Mmi&
srosmss Cembgeunnas smsiu@Anmi?

(@) @sd S -

) apes s ¥ Loyvohime
© @uanimb shen e et Acsdry o ik Serices Exam Cosching
(d) prewambd SESD | .

@ @opo B Bwew |

©) (c) wpmd (d) wLEB D) (b) whpmid (C) LG |

(E) oQenL QsMweldens .

One side of a rectangular field is 15 m and one of its diagonals is
17 m. Find the area of the field.

(A 80 m? - | ‘(B) 100 m?>

(C) 110 m? | @) 120 m*

(E) Answer not known

@ Qscucus eges Hlasdldar RO U&ES  ojeray 15 B womb isern @@

el Lp 17 § aefld, flogdr Lruuamma srams.

A) 80 82 (B) 100 52
(C) 110 52 D). 120 82
(E) oo Qsflweldae
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91.

92.

CCSE2E/2024

1f1,2,2,3,3,3 afe the faces of a' die, 2 such dice are rolled. In how
many cases 2nd die face is bigger than 1<t die.

A) 3

B) 5

(C) 8

(D) 11

(E) Answer not known

1,2, 2,38, 3, 3 psnduyser Asrar @@ LsamLsET 2 HLLUUGD Qurr@gﬂ,
ws®» usmLwlar s wHueu L @raTLmaug UsOLWET (PE sy
HEOIE @)(H&66 UMLULILSET TESENET ?

A 3
B) 5

€ 8 A SHANKAR .
D) 11 B IAS ACADEMY

. SINCE 2004 Best Academy for Civil Services Exam Coaching
(E) e QsAweNdrene

If Rs. 10,890 is divided among A and B groups in the ratio 4:5 then
the group B’s share is

(A) Rs. 1,210
(B) " Rs. 4,840
(Cr Rs. 6,050
(D) Rs. 5,445
(E) Answer not known

. 10,890 8 A womd B eemn @ GuwssersE 4:5 adap «HssHe
Gflsg6 Qar@ssted B guwelne deLseb Asmas ednar?

(&) ® 1,210

(B) . 4,840
(C) em. 6,050
(D) . 5,445
(E) oflenr Qzflwelcraney
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94.

(cat=abc . SHANKAR

If ' | |AS ACADEMY"
dOg:def _ Best Academy for Civil Services Exam Coaching
Then which one of the following may be equal to tartl
Cco
cba - |
— . cha
cbn
> Mirers ' £ho.
© e ® 2
(E) Answer not known '
cat=abc £an) |
dog =def bl @@[—55”@ oot ararugl  emeu(heuaTEUDMICT  GTSEumed
G&sLIuLOTD? \,
cba- ' | cba
A — ' cad
cbn - - - cbn
c — , —
_( ) ace 3 ' : (D) aec .

(E) e Qsfweldene

E&GBDM4NKH2ACZSV3F1JLOQ5PR
What will come in place of question mark in the following sequence?

GDR BMP D45 ?

(4) - MNQ T (B) 4NQ

@ MKO (D) ‘M4Q

(E) Answer not known ' a '
E&GBDM4NKH2ACZSV3F1JLOQ5PR
efleurm @gﬂuég@\é;@u ufens aiBLD QgmLit eTg)?

GDR BMP D45 ?

A) MNQ. | (B) 4NQ

(€) MKO (D) M4Q

(E) o Qsfwedama
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95. A can finish a job in 6 days whereas B finisheS. 1t lfl 12 day:, ‘The
time taken to complete the job working together 18 — ?
(A) 6 days | ' (B) 4 days
(C) 8 days | (D) 3 days

(E) Answer not known

A erémueuit R Gwm@mm 6 prisallg B eremueur 12 (fbm:_a;aﬂ@m @.L%L'lurr
aaflld, @meumbd gamrss Gsibg <ips Coumuew aTss®mer Brlsal

WRUuUT?

A) 6pmser o (B) 4 priger

C) 8pmsar . - (D) 3 BT &6t

(E) o9er QzsAweldaa A SHANKAR §
: sea IAS ACADEMY

SINCE 2004 - Best Academy for Civil Services Exam Coaching .

96. A swimming bath is 24 m long and 15 m broad. When a number of
men dive into the bath, the height of water rises by 1 em. If the

average volume of water displaced by each man be 0.1 m3, how
‘many men are there in the bath? |

@ 82" Sy

(C) 42 ~ (D) 46

(E) Answer not known '-

Q@ 0g.05 2 Widlma). S(H 6T sun&ﬂmn&
‘GTeutled 9AbS Béad &oT5S b TESMET e
A) 32 |

Qeuefl Guipmin Bfler wyeray 0.1 15
6T 2_gTerreumit 7

(B) 36

©)- ¢2 o D) 46
(E) e QsMwelcvenay
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97.

Find the simple interest op Rs. 68,000, at 162% per annum for

9 months.
(A) Rs. 7,500 (B) Rs. 8,500
(C) | Rs. 6,500 . (D) Rs. 5,500

(E) Answer not known

<@ (H @L“} Ndsib 1.6%% arafled . 68,000&'5@ QETLG! DISEISEHES e
QuL_lg. GTGHTENT? | | |

(A) - 7,500 k (B) . 8,500

©) @ 6,500 (D) ©.5500
(E) e Qsfwelcrena '

) SHANKAR
2%% IAS ACADEMY”

Best Academy for Civil Services Exam Coaching

98. If A‘:B':C¥2:3:4 the % —g- %m equalto

'(A)'8:9:10 o w e (B) 8:16:24

(C) 8:9:24 D) 24:9:8
(E) Anéwer not known

A:B:C=2:3:4 aafled 14_ E —C—Go'ru)ﬁuql
. ° — . . B C A \

(A) 8:9:10 (B) 8:16:24
(C) 8:9:24 D) 24:9:8
(E) e Qg,ﬁ]maﬁ]c‘omeu
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99,

"Reaching the place of meeting 20 minut

(B) oL Asfucidme

es before 8.50 hrs Sunil

found himself thirty minutes earlier than the man -who came

40 minutes late. What was the schedule time of the meeting?
(A) 8.00 - (B) 8.05
(C) 8.10 (D) 8.20

(E) Answer not known

sl LD gauk@usheg 20 HBlLb wpaaGo safld e 8.50 wanflss,
Qeanprir. SifE, sl Lb gakGausne 30 il paeaGr apg) A Lgns
o aihsTr. om walsi miLsnE 40 AALD sTRFTOFOTE UBSTT aTafled -

&L gloums &HsSs CHILD ereime ? :

A) 8.00 o "~ (B) 8.05
(C) 8.10 e - (D) 8.20

- @ SHANKAR
2= |IAS ACADEMY

SSSSS : Best Academy for Civil Services Exam Coaching

Acan do a cérfai_n job in 7% hours. B is 20% more efficient than A.

How many hours does B alone take to do the same job?

- (A) 5 hours - (B) 53 hours

(C). 6h6ur$ D v (D) 61 hours

(B) Answernotknown  Correct Answer: 6 (1/4)

CCSE2E/2024

‘B’ eramuautr ‘A’ cramuiauany el 20% ifswrs Ceume Qeudprir. A @@
Ceauamevanw 7% quwﬂ Crrsdled Q&@Q] WSSt Gr@ﬂd), B n;on'_('b\Lb 3ibBS
Coumaew Qsiig W& assman wafl CBrb a®s516 Qanareum?

(A) 5 wefl Gpyw B) 51 vefl Cryw

(C) 6 wenfl Gpyd (D) 6% wafl Cryw

(E) ofen GaMwaildama
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